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SAMPLE PAPER 7: PAPER 1

QUESTION 9 (50 MARKS)

Question 9 (a)

Period = 2 !

Range =[-107, 107]
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Question 9 (b)
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Question 9 (¢)

(i) Breathingin: 0 s —0.0025 s, 0.0075 s —0.01255,0.0175s - 0.02 s

(ii) Breathing out: 0.0025 s —0.0075 s, 0.0125 s —0.0175 s

(iii) Maximum values: 0.0025 s, 0.0125 s




Question 9 (d)

a =107 sin(2007¢)
dt

j dv =107 j sin(2007t) dt

=297 os200m0) + ¢
2007

V =—-0-05c0s(2007¢) + ¢
t=0,V=2-95:
2-95=-0-05co0s(2007(0))+c
2:95=-0-05+c¢

sc=3

V =—-0-05c0s(2007¢) + 3
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Question 9 (e)
V =-0.05 cos(2007rt) +3

0-01
I (=0-05cos(20077) + 3) dit

Ave. — 0

0-01

sm(2007rt)}

0

sm(2007r(0 01)) - 0}

= {3(0 01)—
0-0

=3-

sm 2
o0 (2m)

=3 litres



